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HPAS (Main)—2017

GEOGRAPHY
Paper 1
Time : 3 Hours Maximum Marks : 100
Note — Attempt Five questions in all. Question Neo. 1 is

compulsory and answer any four of the remaining
 questions. All questions carry equal marks. Hlustrate

your answers with suitable sketches and diégrams.
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1. Write notes on the following in about 250 words

each :

(@ Isostasy

(b) Air masses and fronts

(¢} Iron ore and energy resources

(d) Pattern of'rural settlements.

P.T.O.



( 2 ) Ceog.-]
ﬁmﬁ@aﬁﬁmmmﬂnzsomﬁﬁﬁmﬁ
(w)mfa@a

(F) IFUREr &R S
() o o 3R Fo gunE
(%) uHw AfHeamy w1 gfaeq |

Give comparison of Davis and Penk’s views of ‘cycle of
.erosion’ and discuss the interruptions of the cycle of
erosion. .
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- Describe the schemes of climatic classification as given
by Koppen.
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“Man is the product of environment.” Critically examine
the statement in the light of man-environment
relationship.
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“Population' pressure 1s a most important factor of

qualitative and quantitative degradation of water

resources”.

Explain hydrological cycle with reference to above

mentioned sentence.
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“The oceans are the st.(;rel10uses of resources fdr future.”
Discuss 11 detail.
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7 .- Discuss the Demographic Transition Thepry.
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8. What is meant by urbanization ? Explain thé pattern

» :
of universal urbanization with special reference to

India.
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